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Instructions for the Candidates
1. Write your roll number in the space provided on the top of
this page.
This paper consists of hundred multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not acceptan open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/ questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet. 4
4. Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: @) Q) @ (@ where (3)is the correctresponse.

5. Your responses to the items are to be indicated in the OMR |-
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated. 6

6. Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

9. You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet on |10
conclusion of examination. 1

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There are no negative marks for incorrect answers. 12.

13. In case of any discrepancy in the English and Hindi versions, |13
English version will be taken as final.
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Note : This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following is not included in the definition of law under Article 13 of the
Constitution of India ?

(1) Legislation (2) Customs
(3) Usage having no force of law (4) Ordinance

2. Which of the following Article of the Constitution uses the term ‘martial law” ?

(1) Article 33 (2) Article 34 (3) Article 352 (4) Article 353
3. Read Assertion (A) and Reason (R) and give correct answer by using the code given
below :

Assertion (A) : A person shall be disqualified for being chosen as, and for being, a member
of either House of Parliament if he holds any office of profit under the
Government.

Reason (R) : If “pecuniary gain’ is receivable in connection with the office. Then it shall
not become an office of profit, irrespective of whether such gains are actually
promised or not.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3)  (A) is correct and (R) is incorrect.

(4) (A) is incorrect but (R) is correct.

4.  Which of the following statement/statements is/are incorrect ? Give answer by using the
code given below :
(a)  The election of the President shall be held in accordance with the system of proportional
representation by means of single non-transferable vote.

(b) The President may resign, by writing under his hand addressed to the Chief Justice of
India.

(c) No resolution to remove the Vice-President of India from his office, shall be moved
unless at least thirty days notice has been given to him.

(d) Vice-President shall, not with standing the expiration of his term, continue to hold
office until his successor enters upon his office.

), (b), (c) and (d) are incorrect
(2) (@), (b) and (c) are incorrect

(3) Only (a and (b) are incorrect
4) Only ) is incorrect

vossns [[HIIAINN
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5.  Match List-I (name of the case) with List-II (related subject) and give correct answer by

using the code below :

List-I List-II

(a) K.M. Nanawati Vs. State of Bombay (i)  Right to life

(b) Ram Prasad Vs. State of U.P. (i) Power to pardon

(c) Lily Thomas Vs. Union of India (iii) Fundamental Duties

(d) Dr. P. Naller Thampy Terah v. Union of India (iv) Disqualification of members

Code :

@ (® (9 (9

M @) G @) 6

@ O G @) @)

@) G @) O G

@ (v 6 @ i)

6.  Which of the following case is not related to “Theory of basic structure” under Article 368 of
the Constitution ?

(1) Minerva Mills Vs. Union of India
(2) Waman Rao Vs. Union of India
(3) L. Chandra Kumar Vs. Union of India
(4) T.XK Rangarajan Vs. Government of Tamil Nadu
7.  Which of the following is incorrect in relation to the declaration of financial emergency by

the President under Article 360 of the constitution ?

(1) Itshall cease to operate at the expiration of one month unless approved by both Houses
of Parliament.
(2) Salary and allowances of persons serving in connection with affairs of state may be
reduced.
(8) It may be revoked or varied by a subsequent proclamation by President.
(4) Salary and allowances of the Judges of Supreme Court and High Courts may be reduced.
8.  Which of the following statement/statements is/are correct ? Give correct answer by using

the code given below :

(a)
(b)

(©)
(d)
Code
@

(€]

)
posans ||
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An ordinary Bill can only originate in council of states

A Bill pending in House of people shall not lapse by reason of the prorogation of the
House

A Bill pending in the council of state which has not been passed by the House of people
shall not lapse on a dissolution of the House of the people

A Bill pending in the House of people shall not lapse by reason of the dissolution of the
House.

(a) and (b) are correct (2) (b) and (c) are correct
(a) and (d) are correct (4) (b) and (d) are correct
LT : Faper
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9.  In which of the following case the Parliament has no power to legislate on the state list ?

(1) Consent of two states

(2) Implementing international agreements

(3) Emergency is in operation

(4) In the Public interest if so declared by council of states

10. Match List-I (name of case) with List-II (related subject) and give correct answer by using
the code below :
List-I List-II

(a) Union of India Vs. Sankalchand Seth (i) Power to do complete justice

(b) Leila David Vs. State of Maharashtra (ii) Foreign Precedent

(c) B.S.ES. Ltd. Vs. Fenner India Ltd. (iii) Power to punish for contempt

(d) Darsan Gupta Vs. Radhika Gupta (iv) Appointment/Transfer of Judges

Code :

@ ®) © (@

1) v @) @ o

@ 6 @ @) @

@) @ O v (@)

@) @ @ 0O @

11. Which of the following case is not related to the Parliamentary previleges ?

(1) M.SM. Sharma Vs. Sri Krishna Sinha

(2) State of Karnataka Vs. Union of India

(8) Jatish Chandra Ghose Vs. Harisadhan Mukherjee

(4) State of Tamil Nadu Vs. K. Shyam Sunder

12.  Which of the following statement/statements is/are correct ? Answer by using code given
below :

(a) Itshall be the duty of every citizen to respect the country and abide by the constitution.

(b)  All minorities, whether based on religion or language, shall have the right to establish
and administer educational institutions of their choice.

(c) The state shall in particular, take steps for preserving and improving the breeds, and
prohibiting the slaughter of cows and calves and other milch and draught cattle.

(d) No law here after enacted by the legislature of Jammu and Kashmir shall be void on
the ground that it is inconsistent with any rights conferred on other citizens of India by
any provision of part - III of the Constitution.

Code :

(1) Only (a) and (b) are correct

(2) Only (c) and (d) are correct

(3) ( ), (b) and (c) are correct

(4) (@), (b), (c) and (d) are correct

T 6 Papert
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9. TrAfafaad & @ forg amel § Hog & U9 P & Fag o faue oM ot wfeq =& 82
(1) <1 T&A S FeAtd
(2) ST Tl & fharee o
(3) AIIIHTA & TN @A W
(4) Hfed ¥ AfE To T5F G R S R T R
10. gET-1 (A &1 AM) 1 Geit-11 (Fafa faw) § gafad it i) = feu 7u % i ggra 9
& W ST
-1 Teit-11
(a) WRd H¥ I Hishaas U (i) ol = L ot e
(b) ieT eferg M "N T (i) foceh gd fofa
() WNumiuwm. fafrees s9m xR fean (iti) 3TEEMAT o fau <feq w1 =t wfe
fafhes
(d) S T S iRt T (iv) =t ot e/ T
e
@@ (b) (o (d)
L (v) (@) (@) ()
@ @ @ @) @)
G) @ @ @v) (i)
@) (@) (@) @O @)

11. Trafafed § @ SH-51 Awen dosr faRferr § Heiftd & 8 2
(1) TH.THTH IH o7H 4o fg=1  (2) i U9 oM 9Rd HY
(3) Sifaw =g =Y oI gREEE gEsil (4)  AfHeErg T6F 9FM o, M X

12. Frafafed weo/wol § @ oF-91/9 9@ §/8 2 e U T e 1w S| T

(a) T AN 1 I8 haed TR Toh T8 ST 1 TN L 31X T =1 e |

(b) | TTHEIH, FE TH T ARG B A1 9T T, 1 7T TS hl A0k Hedq Tefia A
qAT Y FINFHT HIA T SRR B

() T fomioeR Tl 3iR SrSl qe o7 QU IR ARl UR[SH i YSMfd o1 HE0 i, 3T
YU T q1 37k 94 ol Tfdfg T & T FHeH 331 |

(d) ] IR FHYIR faum T §R 59 I AfUfaftd i ot T 59 SMER R ¥ 2 fR
I8 HiGHM o AT 111 o fordt Sueel & gR1 9T & 311 AR sl Ued Tkl il o |1

ST T
?z FIA (a) 3R (b) T
(2) FHIA (c) R (d) T
(3) (a), (b) ¥R (c) W &1
4)  (a), (b), (0) ¥R (d) W €1
rassas || AT -,-
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13.  Which one of the following Jurists distinguished between ‘expositorial” jurisprudence (What
the law is) and ‘Censorial” jurisprudence (What the law ought to be) ?

(1) John Austin (2) Hans Kelsen
(38) Jeremy Benthem (4) H.L.A. Hart

14. ‘Now, natural law is not considered as absolute but as relative. It is natural law with variable
contents.” This observation specifically relates to :

(1) Dabin (2) Stammler (3) Finnis (4) Acquinas

15. According to Professor Hart the meaning of the term ‘Positivism” includes :
(a) Laws are commands.
(b) The analysis of legal concepts is distinct from sociological and historical inquiries.

(c) Moral judgments cannot be established or defended by rational argument, evidence or

proof.

(d) The law as it is actually laid down, has to be kept separate from the law that ought to
be.

Code

(1) Only (a) and (c) are correct

(2) Only (a), (b) and (d) are correct

(3) Only (a), (c) and (d) are correct

(4) (@), (b), (c) and (d) all are correct

16. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-II
(Theory) (Jurist)

i)  Ehrlich

ii) Duguit

iii) John Austin

a) Theory of social solidarity
b) Theory of categorical Imperative
¢) Imperative Theory of Law

d) Theory of Living Law iv) Emanual Kant

Code :
@ (B (9 (d
1) Gv) @ @) (@)
2 @ @ @ i
() (@) (iV) (iii) @
@ @ (iid)
J-05818 |“ 8 Paper-II
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13. frAfafaa fafremed 8 § @R ‘twfseiEa’ fafremes (5o ©) @R S’ fafreres
(1 ST I BT AfEN) o o fa9g Far g ?
(1) S effea (2) T heed
(3) Sl s (4) TATAT B

14. ‘319, Uihfaes fafy 1 sifaes & sifug amiferes wmm sman €1 @8 aftafda siqesg & e wefas
fafa g1 == feuht favey @ f=fafea 8 9 fead defua 82

(1) sIfed (2) TWHR (3) fwta (4) T

15. WHE TR & TER ‘goerEe’ & o1 § i €
(a) faf gaRe ¥
(b) Taferr saumonsti =1 fawerson TaSRTETT 3R Ufterfas S 9 fa= T
(c) Hfaer fola qehomRes Sefiet, Teali sTeren JHTON RT Tefid a1 s=me =&l fohu S §ehdt € |
(@ fafy fom w9 & araa & T 3 fafy i g’ =nfew @ stem @ S =nfed |
<< :
(1) Had (a) 3R () T 1
(2) A (a), (b) 3 (d) T T
(3) W(a)()sﬁw)ﬂ?r%l
4) (a), (b), (c) 3R (d) |t T T

16. Ge-1 1 Get-11 § GAfad s iR 9= U 70 e &1 720 o9& S| T

-1 HA-11
(fagia) (faferamm)
(a) AR 3Tk WA AifAs e (i) sefel=
(b) R SATE HMRwa sFRfed (i) gsfie
(c) IERICE &R A% (i) =T oA
(d) =R @it fafe o (iv) EHICA HI2
<< :
@ () (9 (d)
1 Gv) @ @D (i
@ @ @Gv) @ ()
®) @) (iV) (iif) (i)
@ @ @) Gv) ()
posers il )
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17. Match List-I with List-II and give the correct answer by using the code given below :

List - I List-II
(Book) (Author)
(a) The Growth of the Law (i) Gray
(b) Foundations of Jurisprudence (i) R. Dworkin
(c) The Nature and Sources of Law (i) Cardozo
(d) Taking Rights Seriously (iv) Jerome Hall
Code :
@ () ©
M 6 G @) )
@ G @) 0O @
®) @ @ O )
@) @) O @ )
18. Which one of the following are the two main theories of legal right ?
(1) Interest Theory and Fiction Theory
(2) Realist Theory and Will Theory
(3) Bracket Theory and Interest Theory
(4) Interest Theory and Will Theory
19. Which of the following is not a theory relating to corporate personality ?
(1) Fiction Theory (2) Realistic Theory
(3) Purpose Theory (4) Functional Theory
20. Match List-I with List-II and give the Jural correlatives by using the code given below :
List - I List-II
(a) Claim (i) No claim
(b) Liberty (i) Disability
(c) Power (iii) Duty
(d) Immunity (iv) Liability
Code :
@ () ©
O @ @) 6
@ G O @) @
@) (v G @
@) O @ @ @)
possss [N 1 Papert
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17. G-I % Gei-11 & 1 Gafad w¢ R A= fu 70 e 1 7600 & 9@ S| <

eli-1 e-11

(q&h ) (@ )
(a) T WY A® T Al G ¥

) WY Ah RS (i) SR ganferd
(c) T =R UE Uiy 3w o (iii) SIS
(d) e Tgew Hifewet (iv) S
<< :
@@ (b) (o (d)

@ @ @ @) ()
() G (@) @O @)
G) @@ @) @ @)
@) (@) @ @) ()

18. frefafed # @ wiF-91 ST 1fUR & < g7 fagr €2
(1) fea fagra iR wfewd fagr
(2) Fenefarst fagra iR sfwd fagm
() wrew fagm iR fea fagm
(4) fea fagra iR steaa fagr

19. fo=fafEd § 9 SiH-91 waie safada 9 Fafid fagr el 2 2

(1) fcqa fagra (2) Fendarst fagr
(@) wAeH fagr (4) wHEHS Hg
20. GE-1 IR Get-11 w1 gafaa &¢ iR ffafad s & w@bm o fafie gegsfya aasy

geit-1 Teit-11

(a) (i) < e

IESCER (i) FrEfEa

(c) ik (iti) A

(d) SR (iv) <o

<< :
@ () (9 (d

1 @ @) @ ()

(2 @) @O Gv) (@)

®) (v) () @) @

@ @O @ @) @)

posss ||
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21. ‘X, aservant, finds a bag at the basement of the shop. He hands it over to “Y’, the owner of
the shop, who asks him to place it in the almirah. Now, the bag is in possession of :

(1) X', because he was the finder.

(2) Y, because he was the owner of the shop.
(3) Y, because in him there was corpus and animus.
(4) ‘X, because he kept it in the almirah.

22. Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : Laws are valid only if they are just.

Reason (R) : The aim of law is to secure justice.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

23. Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : Judges must follow authoritative precedents.

Reason (R) : Authoritative precedents derive their authority from basic postulates of the
legal system itself.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

24. Which of the following statement/statements is/are correct ?

(a) Hobbes, Austin and Pufendorf subscribe to the view that law “Properly so called” in
command of the sovereign and enforced by a superior political authority and hence
deny legal character of International law.

(b) Oppenheim has remarked that International law is the vanishing point of Jurisprudence.
(c) Holland subscribes to the view that International law is really law.

(d) Starke has expressed the view that International law is a “Weak law”.
Co

(1) Only (a) is correct

(2) (a) and (d) both are correct
3) (a), (b) (c) are correct
4)

(@), (b), (c) and (d) all correct

TR 5

posans ||
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21. T AR X THM h WA H TH O U § | 9% T M ok W@ Y 1 Fi Ia §, S 3Y W
ST § TEA %1 hgdl § 1 379 I8 o9 fohdes shesl § €2
1) X, Fife 37 5 e 7
(2) ‘Y, ik 98 G H @ T |
(B) Y, FEifer 39 Hifde SR AHEE (FHrde R vfme) fEE SE 7
(4) X, Hifr 387 39 TEER | W@ |

22, 3AMURAT (A) IR ek (R) Tl 9 iR = W 7T e o1 o1 Y |t S S -
afeRem (A) :  fafu Faa aft 9w € afe 9 =mifaa €1
@ (R) : fafy =1 st = aifae & 21
e

(1) (A) 3R (R) I &I 3R (R), (A) T & A B |

2) (A) 3R (R) I =& ¥ fohg (R), (A) w080 T T

() (A) u& & fhg (R) T B |

(4) (A) Tea € fohg (R) W& 1

23. AT (A) IR ek (R) T IR = fIT TT e 1 FA0T X T& SW S
AURAT (A) : AT k1 TRyl ol ot <A1 STTETer R =feu |
qh (R) IRyl gd ol o7oe WifeehR Tored =1 Juelt & ot STHRde d W i € |
<< :

(1) (A) 3R (R) I & T, 3R (R), (A) I F& = T

) (A) 3R (R) 34 TEl ¥ fhg (R), (A) FT HE e 76 7

3) A)aé%ﬁ@ (R) TTerd 1

(4) (A) To@ € fRg (R) T B

24. Trafafea s/ e 8 @ Si-ar/d w@ /8?2
(a) TTeH, e IR el 39 faar o guefe ¢ fob & ‘ afc Tqfea €9 | &el S ar’ =T &6
3T ¥ IR ISR AT MRt R yafda foran Sar © o7k safery siarsiia s ot
SeeheT hT ST T ¢ |

(b) STIERH A I% feuult #t T foh sawrgia s fafueme & g fog 7

(c) @ierve 3H fa=m o1 O § fof Sasda ST aad § &iF B

(

d) e 7 7 four = foRan € o Sawseia i ¢ Feeik '
?‘f-: A (@) TR
2) (a) 3R (d) A T E |
© ( ) (b ) W %1
(4) ( ) 3R (d) Teft T €1
- Il i
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25. ‘Triepel’ and ‘Anzilloti” are the exponents of which of the following theory of Relationship
between International law and Municipal law ?

(1) Monism (2) Dualism
(3)  Specific Adoption Theory (4) Delegation Theory

26. Which one of the following is one of the Chief Exponents of ‘Constitutive Theory” of
Recognition ?
(1) Pit corbett (2) Kelson (3) Hegel (4) Hall

27.  Which of the following statement/statements is/are not correct ?

(a) Inaccordance with the provisions of Article 7 of the United Nations Charter, the Security
Council is one of the Principal organs of the United Nations.

b) The First Security Council came into being on 12th January, 1946.
ty & y

(c) At Dumharton proposals, it was finally decided to establish such as an organ in the
form of the Security Council

(d) Tennon-permanent members of the Security Council are elected by the General Assembly
for 5 years.

Code :

(1) Only (c) is not correct

(2) (c) and (d) are not correct

(3) (@), (b), (c) are not correct

(4) (@), (b), (c) and (d) all are not correct

28. Match List-I with List-II and give the correct answer by using the code given below :

List -1 List-1I
(Provisions) (Articles of statute of court of International Justice)
(a) Law applied by the International (i)  Article 41
Court of Justice
(b) Binding force of the decision of (i) Article 62
International Court of Justice
(c) Interim Measures or Relief (iii) Article 38

(d) International court’s power to allow  (iv) Article 59
a state to intervene, in case to which

it is not a party

Code :
@ () (9 (d
1) @) @Gv) @ @
@ @O @ @) ()
(3) (@) (i) (iV) @)
4 (@) @ (i)
J-05818 |“ 14 Paper-II
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25. ‘TEUA’ IR ufSela’ SIAs A SR TR HA & o gay o fefaftea fagra § 9
forerer wferames €2
(1) UheEE (2) e
(3) fafre st fagr (4) ToEeH fagr
26. Trfafaa § @ S A= & ‘Hues fag’ &1 &7 gfaues 2
1) T =i (2) e (3) @ 4)
27. Trafafed wum/<uE 8 9 FF-91/9 @& @ /8?2
(a) HIH TL A & AR 7 o LM o STIHR GL&T IReg Hga T & & 317 § T |
(b) TR & UREG 12 SeRT 1946 ol If&da § 317E |
(c) TR & TS WX 3{d: G uug o €9 H 39 YRR ok ST i Lo k1 Frof feran
(d) & Reg o TH el HeE 5 Fu o fIT wereH g1 g S © |
<< :
(1) A () T& T T
2) (o) 3R (d) T& & B |
(3) (a), (b), (c) WE & T
@) (@), (b), (c) 3 (d) Teft Wt & €1
28. G-I 1 GeI-11 & WY FAfed oL 3R = f<U TT Fe &1 700 R & S| <
geit-1 geit-11
(AT ) ( AT AT ht Gt o TS )
(a) AU =R g/ An] fwman @ A () A= 41
(b) STRUSE e o fofa 1 aneehrd B (i) 3TT=DT 62
(c) afw 3Um™ A TEd (i) STI=T 38
(d) ST = it foRdt T @l 39 "el o iv) AT 59
9 9% UahR el © SWaT S S STIA o
EalNIESH
e
@@ () (o (d
1 @) (Gv) @O ()
@ @ @ @) (@)
(3) (i) (m) (iv) ()
4) (@v) (i)  (iif)
posos || il 1
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29. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-1I
(Modes) (Provision)

(a) Cession (i)  Acquisition of Nationality
(b) Reprisal (i) Loss of Nationality
(c) Good offices (iii) Pacific means of settlement of International Disputes
(d) Substitution (iv) Coercive means of settlement of International Disputes
Code :
@@ (b) () (d)
® @ Gv) (@) ()
(2) @@ @) (@) @)
G) G @@ @ )
@4 @) @ @ ()

30. Read Assertion (A) and Reason (R) both and give the correct answer by using the code
given below :

Assertion (A) : Article 10 of the U.N. charter confers upon the General Assembly very wide
deliberative functions except in respect of those matters which are being
considered by the Security Council.

Reason (R) : The Resolutions or declarations of the General Assembly are not binding
upon the states. They are merely recommendations.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3)  (A) is correct (R) is wrong.

(4) (A) is wrong but (R) is correct.

31. Which of the following statement/statements is/are correct ?

(a) All members of the United Nations are ipso facto the members of the statute of the
International court of justice.

(b) The International court of justice consists of 25 judges. Which are elected by the General
Assembly.

(c) The judges of the International court of justice are elected for a term of 5 years.
(d)  All the decisions of the International court of justice are on the basis of the majority of

judges.
Code :
(1) Only (a) is correct
(2) (a) and (b) are correct
(3) (a) and (d) are only correct
(4) (@), (b), (c) and (d) all are correct
s IR 1 Papert
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29. G-I 1 Gei-11 & 1 GAfad w¢ IR = fSU 7T e 1 960 61 9E S| <

HEit-1 geit-11
(|Te) (raeT)
(a) Aedm () U T ST
(b) faeny (i) U HT B
(c) HTISA (iii) S foame & f9er 1 wifagel mead
(d) fwerds (iv) S foamel & f9er i1 serqul wed
<< :
@ (b) (9 (d)
1 @ Gv) () (i)
2 @ @) @) @
@) @) @ @ ()
@) @(v) (@) @) (i)

30. StfueRe (A) 3iR deh (R) SHI ¢ 3R = feU 7T %2 1 TIT Wl SW T
AURYT (A) : T T AT & 3T=e 10 3 fawdl 1 Bre X 57 W Fran 9Rkug gr fa=ar
e ST T@T & HETT 1 3Tca= & SATIh faHeiicHs e WM il |
T (R) : ST o Fehed I1 ST T2 R sNeAehil el € 1 o O fawmiest €1

)(A)?Fﬁ'{ ) ST W& ® 3R (R), (A) T W AR ® |
) (A) 3R (R a-—haé%ﬁ@(n (Aaﬁaémﬂﬁ%|
) (A) § § (R) T ¢ |
)(A)W%ﬁ»‘g{, ) W T
31. frAfafd s/ sem o @ HH-91/3 '8 8/ 2
(a) TIH T % A+ T q2Aq: SIRULE =T hi WY o TG © |

(b) SRR = H 25 R B S Herd Tl 51 fHaifad fohe S € |
() SIS <A o =AM 5 a6 o shrdehe o fore fHaffad 2 €
(d) STRUSE = & w4 fofa =mneiel % sgad & oYR W fey S
<< :

(1) Had (a) T

2)  (a) ¥R (b) W&

(3) HIA (a) 3R (d) T 1

@ (), (b)()aﬂv d) weft W €1

posss ||
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32. Read both Assertion (A) and Reason (R) and give the correct answer by using the code

given below :

Assertion (A) :

When a state behaves in discourteous manner with another state,

International law confers right upon the state affected to resort to ‘retorsion’
which means retaliation.

Reason (R) : If the International disputes are not resolved through “peaceful’, means then
the states resort to compulsive or coercive means.

Code :

(1) Both (A) and (R) are correct and (R) is correct explanation of (A).

(2)
®)
4)

Both (A) and (R) are correct but (R) is not correct explanation of (A).
(A) is correct but (R) is wrong
(A) is wrong but (R) is correct

33. The ‘U.N. Commission on Human Rights” was established in 1946 by :

(1)
(2)
®)
4)

General Assembly
Security Council
Economic and Social Council

International Court of Justice

34. Under Hindu law, the persons descended from a common ancestor but by different wives,
are known as :

Full blood Relations
Half Blood Relations
Uterine Blood Relations
No Blood Relations

35. Match List-I with List-II and give the correct answer by using the code given below :

M
2
®)
(4)

List - I
(a) Agnate
(b)  Shruti
9 Cope
Code :

(@) (b)
M @) @G
@ G @
@) (@) ()
(4) (i) (v

possas | [

)
Il

List-1I

(i) What was heard
(i) Related wholly through males
(iii) What has been remembered
(iv) Related not wholly through males
() (d
(i) (i)
(iv)  (iii)
(i) (i)
D ()
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32. afieRer (A) iR @k (R) SHI W€ 3R =9 o 7T %2 1 T T HEl SW < -
AMRAT (A) : T Teh T TR TA o Ufl ST ZaeR hiTdl § A ST Shid UHIfad I3
1 ‘Hedre wame ' fSraert 31ef € 9fder &1’ 3 o1 IR YeM e §

e (R) : Ifg st faanei a1 g ‘srifaqot’ mredi | & 21 € @ T" s a1
Fequ! HEET 1 FEW o E |
<
(1) (A) 3R (R) IH T § 3R (R), (A) T T& =087 S|
) (A) 3R (R) I &t T fohg (R), (A) T & = 76 2
(B) (A) ¥@ g fhq (R) T B
(4) (A) 7o  fohg (R) T2 R
33. ‘HF9 AfYSRI Hedh Wga T AN Y T 1946 H % NI i T off |
(1) we™«
(2) g g
(3) omféer iR wrIfSIe: iug
(4) ST =R
34. fog fafy & sidia w2 qoi fohg fuml afcTal & stearifa safel ol el S @
(1) YUl T Heieh
(2) Y W daH
(3) UehieT TRl HaiEll
(4) I T e T
35. QEi-1 o1 Gei-11 & aferd o iR A= S 70 e 1 7 o9& S ST
eli-1 efi-11
(a) T @) STgmE
) gfd (i) Yo GEU ok HIeAH § el fed
(c) I (iti) T THLOT @ A g
(d) Hfa (iv) o GEdl o HTEAH 9§ Geltd 6l
<
@@ () (9 (d
@ @ @) @ ()
2 @@ @ (Gv) (i)
(3) (ii) (iV) (iii) (i)
(4)
poss1s \||H||H||||\|\ L
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36. If the condition laid down under section 5(iii) of the Hindu Marriage Act, 1955 is violated,

such marriage under the Act is :
1) Void but not punishable
2) Valid and not punishable
3) Void and Punishable

4

(
(
(
( Valid but Punishable

)
)
)
)

37. Under sec. 2 of the Dissolution of Muslim Marriages Act 1939, the following grounds of
divorce are available to a wife :

a) Where abouts of the husband have not been known for a period of four years.
b) Four years imprisonment of the husband.
c) Husband has treated her with cruelty.

d) The husband has neglected her or has failed to pay her maintenance for a period of
two years.

38. Read both Assertion (A) and Reason (R) and answer by using the code given below :

Assertion (A) : No person except the father or mother or guardian of a Hindu child has the
capacity to give such child in adoption.

Reason (R) : No re-adoption may take place under the Hindu Adoptions and maintenance
Act, 1956.

(A) is correct but (R) is false
(A) is false but (R) is correct
Both (A) and (R) are correct

Both (A) and (R) are false

possns || IANRRLAN
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36. feg foame stfuftem, 1955 it W 5 (iii) & STTq S T8 21 o1 A(G Seets fopdl ST & 1 SAfat=m

& i UE faee © -

(1) A forg o =

) fafemr 3R St &
() I 3R A=

(4) fafemr fog <=

37. Tiem foam fagea ifuftem, 1939 &1 91 2 % iard Ioil i qaeh & HEAfaEd STER Suesd

(a) 9 1 Ta1 fohmT 9R ot i erafy § @ 6 T

(b) ufd =t =R Tuf FF FHg

(c) U7 3Tk T HIAT Toih TSR AT T

(d) <1 Il ot 3TEfY ok fAT afd - SHhT IUST T & TS IEh 0T GIHUT T IAH hid | forma

38. SR (A) 3R deh (R) T 9 70 9l T T He T TART W SW S -

AfURT (A) :  TRrdl fog etk o o =1 |l = sifusrere o1 Big X fordt ot =afem =1 1@
ST I S TEU B A HI SATHHR T 7

a& (R): fog T 3R Ru-dwor siffem, 1956 % Sl e e TR TEl 2 Hehd |
<< :

(1) (A) 5 8 TG (R) 7o T

2) (A) T € fohg (R) W& )

3) (A)?:ﬁ'{ ) T TR R

4) (A) 3R (R) I TTe@ €

poset HIHIIHIIII\I\IIH\H\IIHH||||\|“|\||H|\|\|H|H|||\|\|\|H||\ 2
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39. Match List-I with List-II in the light of the Hindu Adoptions and Maintenance Act, 1956
and give correct answer by using the code given below :

List - I List-II
(Section) (Provision)

(a) Sec.18 (i) Maintenance of dependants
(b) Sec.19 (i) Amount of maintenance
(c) Sec.22 (iii) Maintenance of wife
(d) Sec.23 (iv) Maintenance of widowed daughter-in law
Code :

@@ (b) () (d)
1) @) @) @@ @
() @) @) @O (@)
G O @) @ @)
@) (v) @) @ @

40. “Marriages of all persons who are citizens of India belonging to various religions should be
made compulsorily registrable in their respective states where the marriage is solemnized”.
This was ruled by the supreme court in which of the following case :
(1) Sarla Mudgil v/s Union of India
(2) Gurupad v/s Hirabai
(3)  Shastri v/s Muldass
(4) Seema v/s Ashwani Kumar
41. Give the correct answer with the help of code given below :
A ‘Muta’ marriage is :
(a) A temporary marriage
(b) Recognized under sunni law
(c) Recognized under shia law
(d) A marriage for a fixed period
Code
(1) (), (b), (@) and ()
(2) () (0 and (d)
(3) (@) (9 and (d )
(4) (a), (b) and (d
T 2 Papert
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39. gE-1 % gei-11 § gafed w¢ IR feg e SR FRo-uor sifafm, 1956 & e o = fou

T e T FANT HI Tl IS

qeit-1 geit-11

(&mT) (9TaETT )
(a) HRT- 18 (i)  THal 1 Ro-drem
(b) o - 19 (i) OGO R TR
(c) o/ - 22 (iti) T BT WO
(d) & - 23 (iv) fawen ag &1 wRo-drem
<

@ (b) (9 (d)
1) @) @) @ @
() @) @) @ ()
G) @ @) @G (@)
4) (@v) @) @ ()

40. ‘“‘fafver e & I o1l R o AR Tt SAfaaat & foeTe # STk Heife TS Sl foare g
TN ® H arfad w9 9 TSEisd e wife |’ f=fafag § 9 fovg ame o Swaq == 3 98
ot fea o
(1) ETeT T oM YR G
() TEUE S ERET
(3) TSI SAM e
(4) HrE1 M AT FER

41. = ST 7T FHe F TEHAT H & W A

a1 foame & :
(a) TH srerd foam
(b) Gt A o ST A=A 9T
(c) TR s & Sidia Ar=Ian gre
(d) Tf=a safy & fou faeme
<
M (@ ©) @ ()
(2)  (b), (0) 3R (d)
®) (@) (© 3 (d)
@ (@), (b) T (d)
posss || IMFANRONCIN 2
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42. Match List-I with List-II in the light of the Hindu Marriage Act, 1955, and give correct
answer with the help of code given below :

List -1 List-I1

(Section) (Provision)

(a) Section 14 (i)  Alternative Relief in divorce proceedings
(b)  Section 13-A (i) Restitution of conjugal Rights
(c) Section 9 (iii) Judicial separation
(d) Section 10 (iv) No petition for divorce within one year of marriage
Code :
@ () © @
M G 6 @ i)
@ 6 @) @ @
@) (v Gi) @ )
@) @ @ 0 @)

43. Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : A proposal may be revoked at any time before the communication of its
acceptance is complete as against the proposer, But not afterwards.

Reason (R) : Section 5 of the Indian contract Act 1872, deals with the revocation of
proposals and acceptances.

Code :

(1) Both (A) and (R) are correct, but (R) is not related to (A).
(2)

(3) (A) is wrong, but (R) is correct.
4)

(A) is correct, but (R) is wrong.

Both (A) and (R) are correct, and (R) is the correct explanation of (A).
44. Which of the following statement/s is/are correct ?

Consideration is :

a) a price for any promise.

(

(b) only a moral obligation.
(c) a motive for any promise.
(

d) something of value in the eye of law.

Code :
(1) (a) and (c) are correct
(2) (a) and (d) are correct
(3) (b), (c) and (d) are correct
(4) (c) and (d) are correct
posess [ [ HTNNIN 2 Papert
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42. o< foare sifufrm, 1955 & oTeies § ei-1 3R Geii-11 1 gafad sitse oik = fou ™ g =t

TR § W W L
geit-1 Ter-11
(gm) (U )
(a) 9N 14 (i) TR wEETEd § Sehfcush T8
(b) €N 13-T (i) SFIA SATYHRT T FAIT
() ®M9 (i) ~ATFTeh GereRhIol
(d) =’ 10 (iv) foreme & Tk Y h S qereh o T g StSi e
<< :
@ (b) (9 (d)
1 Gv) @) @) (i)
2 @ Gv) () (i)
G) (v) @) @) @
4) @@ @) @O (@)

43. 3AMURAT (A) IR ek (R) Tl 9 IR = W 7T e 1 JoRT X | SW S -
ARk (A) : TSR R Uk TS SHeh TR fohT ST <l a1 <4 9 79 foheft oft wma g

for=n S gehdn ®, AAfR 39k U 78l |
e (R) : IR Hferen eifafm, 1872 it ¥R 5 YwTal bl aqd o 3R 3 WHhR & &
THH T

(A) 3R (R) I @&t € fohg (R), (A) & Haifera 7= €1
(A) T ® fhg (R) 7Terd 1
(A) T ® fhg (R) W@ T
(A) 3R (R) <1 9@ § 3R (R), (A) T 9 =08 7

44. Tr=fafed wuq/sem § 9 SHE-9/9 T8 /82
wiawe ®

) ot oft o= 1 FiHa

b) Had Afdw e

) TR off o= & foag &R

d) T H ge | wE o eEn =i

a) ﬁ(c)ﬂ@%l
a) 3R (d) =& ¥
b), (c) 3R (d) =& ¥
c) 3R (d) T ¥

AR s

(
(
(
(

posss ||
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45. Consider the following statements and give correct answer with the help of code given
below :

The case of Mohori Bibee Vs Dharmodas Ghose :
a) has laid down that a minor’s contract becomes valid when he attains majority.
b) is the decision of the Supreme Court of India regarding minor’s contract.
c) is the decision of Privy Council regarding voidness of minor’s contract.

d) has laid down that contract without consideration is void.

Code :

(1) (c) and (d) are correct, but (a) and (b) are incorrect.
(2) (a) and (b) are correct, but (c) and (d) are incorrect.
(3) (c) is correct, but (a), (b) and (d) are incorrect.

(4) (b) and (d) are correct, but (a) and (c) are incorrect.

46. Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :

Assertion (A) : Acceptance is to offer what a lighted match is to a train of gunpowder.
Reason (R) : Acceptance cannot be separated from offer.

Code :

(1) (A) is true but (R) is false.

(2) (A) is false but (R) is true.

(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

47. The defence of ‘non est factum’ is available to the contracting party who has committed
mistake as to the :

(1) Identity of the other contracting party

(2) Nature of contract
(3)  Quality of the subject matter of the contract
(4) Quality of the promise made by the other party

48. Under the Indian Contract Act 1872 Which one of the following does not fall in the meaning
of fraud :

(1) Active concealment of a fact.

(2) Suggestion, as a fact, of that which is not true, by one who does not believe it to be true.
(8) Positive assertion of unwarranted statements.

(4) A promise made without any intention of performing it.

yassns [ ]
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45. frafafad sweel R foar i &R H= fe T % ot werd | wE W S
HIRR] Sffell S g = e
(a) 1 TR fomen T staren & g1 fohen TN wfae Sue ooeh BH W 39 &1 311 7
(b) ST % e & FeY § I R & e ¥

(c) oTIT%h & dfaal ! Y o day § fufa wifga =1 fo
(d) = fFruifta foran fo fowa & fomm dfoer = 21

() 3R (d) W& T, fohg (a) R (b) TTora ¥ |
(a) 3T (b) W& § fohg (c) IR (d) 7o €1
(c) & € g (a), (b) 31X (d) T 2|

(b) 3R (d) @&l € fhg (a) 3R (c) T 1

46. 3FUHAT (A) IR Tk (R) T IR = U T Fe FT Te&a 9 O&f S| < -
ARk (A) : TS Wi Wihfa ST & ¥ Y aes w1 el & fore Aifed it Serdt g8 diet |
e (R) : i Sl TEIS & Gk el TR S Fehal |
<
1) (A) 9@ 8 fhg (R) Tor@ §1
) (A)W%ﬁv_g[(R TR T
3) (A)SﬁT ) T TE € 3R (R), (A) T TR AT T
4) (A aﬁmﬁ’r%mm ) i TEI AT T €

47. faer & @ 9 e & Gay | Tt ot § I AR q2a % eAfvarg’ w1 ufaarg
T T

(1) T HfoQerR &l sl 98

(2) wfe =i gfd

(3) e =t fawa a&q st qorer

(4) TE 9 % gN QU T T i UE

48. R Gfaer sifuftam, 1872 % oidvia fr=fafed § 9 #F-91 wue & o1ef § & o1a1 § 2
(1) T2 ! Gk €T § AT

(2) gE, I, 3T faC T & T S 3Hh WA B W favearw o §

(3) Adifsd HUA h TRNHS AR |

(4) TH I S 36 qU fore ST w0t Hen o o e

posens | H1HEITAVANNAN 2
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49. Special damages will be awarded in case of a breach of contract :

(1) Only when the contracting parties express the same specifically as the terms of the
contract.

(2)  Always in the special circumstances leading to the formation of the contract.
(3)  Only when the court of law thinks fit in the special circumstances of the case.

(4) Only when the special circumstances causing loss of profit resulting from the breach of
contract were brought to the notice of the party committing breach at the time of
formation of the contract.

50. Which of the following statement/statements is/are correct ? Give correct answer by using
the code given below :

(a) Tort is a civil wrong for which remedy is a common law action.

(b) Tort is exclusively a breach of contract or breach of trust.

() Tort is an infringement of a right in rein of a private individual.

(d) Tort is violation of a legal duty owed to people generally for maintenance of law and
order.

Code :

(1) Only (b) and (d) are correct
(2) Only (b) and (c) are correct
(3)  Only (©

(4) (

are correct

d) are correct

51. Match List-I (name of case) with List-II (name of defense) and give the correct answer by
using the code given below :

List - I List-II

(a) Samira Kohli Vs Prabha Manchanda (i)  Plaintiff a wrong-doer
(b) Sodan Singh Vs New Delhi Municipal Committee (ii) Leave and licence
(c) Bird Vs Holbrook (i) Act of God
(d) Kallulal Vs Hemchand (iv) Necessity
Code :
@ () © @
M @) G 6 G
@ 6 @ v ()
@) @) O @) @
@) G O @ @)
possss [N 2 Fapert
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49. dfoqr 47 BH & "l § frefafed 5 9 foem feufa o fom sfaafd =6 stfufoter feen smom
(1) e a+ft @ Gfaa w1 ool e Gioat Hi ot § 39 foid §9 | 59 A ©
(2) G«d four gRfafa & 5 SR |faqt &1 Te gl |
(3) hae qft @ =mer A w6 fa ufifefa # SR Suge wHe B
)

(4) had aft & G & ST k THA T R At 94 ok AW H 37 fow aRfeufa, R
HROT HiaeT o7 T % TROTHEERY @19 i FI g2, I T T

50. frafafed # @ SF-91/9 ®oF @& 8/ 2 e 753 73 Fhe &1 78 #d gu Wal S A
(a) 3TUFHA AN TTHR T TR ITAR A HIAT HRAARE B |
(b) 3T Hael Hiagr W71 sreran fovamg o7 ¥
() oTud st =afeq & Toeeh iR o1 tfaskam T
(d) STIHE T AF T HMT Haw % W@-T@E & fau g fafs w3 w1 Seaied T

51. Geit-1 (A1 1 A1) w1 Gei-11 (TfTaret 1 919) % a1 gafad w¢ R 9= & 73 Fe & 5@&m
Eax|

geit-1 git-11

a) GHI gl S GHT HHa] (i)  STEE H ST 96l

b) Hred fg o =% feeedt R wiafd (ii) IS TH ST
¢ o€ IAM AegH (iii) <epd

d) heelclTel SHM gHES (iv) ARl

(a)
(i)
@)
( )

poset \||H||H||II\I\IIH\H\IIHH||||\|H|\||H|\|\|H|H|||\|\||H
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52. Which of the following is correctly matched in relation to the defences of tort of
defamation ?

(1) Fair comment - An expression of statement of fact rather than expression
of opinion
(2) Absolute previlege - Statements made by the members of either House of

Parliament in the House or outside the House

(3) Justification by truth - It is enough if the statement is substantially true and may
not be mathematically accurate

(4) Consent - Plaintiff has not consented to the publication of defamatory
words by the defendant

53. Which of the following case is not related to ‘Remoteness of Damage’ ?
(1) Scott Vs Shepherd
(2) Inre an Arbitration between Polemis and Furness, Withy and Co.
(3) Sirros Vs. Moore
(4) Overseas Tankship Ltd. Vs Morts Dock and Engineering Co.

54. Which of the following tort is not related to nuisance based on ‘Physical discomfort” or
interference with another’s health and safety ?

(1) Obstruction of light

(2) Injury to property
(3) Noise pollution
(4) Pollution of water and air

55. Match List-I (name of case) with List-II (capacity to sue) and give the correct answer by
using the code given below :

List - I List-I1

(a) State of Saurashtra Vs Memon Haji Ismail (i)  No right to Sue as an
un-incorporated association

(b)  Delhi Transport Corporation Vs Kumari Lalita (i) Municipal law does not apply

() Brown Vs Lewis (iii) Suit against corporation
(d) Campbell Vs Paddington (iv) Suit by minor
Code :
@ (®) (9 (9
1 @ Gv) O G
2 @ @ @Gv) @)
() @ @ @ @)
4) (@v) @) @ @)
R 1l . Papert
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52. TR % U & Ufaare & day # frfafad # ¥ & @& gafed 82

(1) 3fua e feoof - T % HUA % Yohed & IS T Hl Gohed

(2) TRus faermfienr - UEC R SH H ¥ T 95T & HeHl §RI §ed H SAel §e &
ISR RIPIEER

(3) U g =AMItaA - R YT ¥ Afe Seed aRqa: 9 © IR T o ST{ER TsheH
el el B Hehd

(4) weHfd - AfYgE §R %e TH AR gUl YRl % YRR i HeAfd
ST 3 TR R

53. frafafed # @ sF-9 a8 ‘ &ifd &1 g’ 9 Heifed 78 ¢ ?
(1) THic M SHS
(2) A" R wE, foet U &, & A Y Hemeyar §
() g T m ©
(4) STeRES S fafiee s9W Ay ef T SSiafT &.

54. Trafafead § @ FF-91 e * ifaw srgfaen’ stean fhdt & wmed Td e ¥ 98818 W Hid
3T & Geiferd & § 2
(1) &R H HIUH
(2) Hufd =t &fd
(3) e T
(4) S T A A

55. G-I (IS 1 M) o1 Feit-11 (A= 1 Tmed) & |y gafad s ok 1= 8 T 5e &1 5@

EZG| T & W AT
eli-1 Hei-11
(a) W T S HEA TS ST ()  AFTIHT Eeen o w9 H AN H
AferR T8
(b) feeet TEUE HURYH A FAR Afcrdr (i) T T AR e e
(c) A M wfer™ (iii) T % foeg gehem
(d) Fed aH feres (iv) SFoarEh G HeheH
e :
@ () (9 (d
1 @ @) @ ()
@ @O @ @) (i
(3) (i) (i) (i) ()
@ Gv) @) @) ()
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56. Read Assertion (A) and Reason (R) and answer by using the code given below :

Assertion (A) : Negligence means a conduct which creates a risk of causing damage, rather
than a state of mind.

Reason (R) : It is safe to start a bus before passengers completely get into it.
Code :

1) Both (A) and (R) are correct, and (R) is the correct explanation of (A).
2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

3) (A) is incorrect and (R) is correct.

(1)
(2)
(3)
(4) (A) is correct and (R) is incorrect.

57. Which of the following statement is correct in relation to Consumer Courts ?

(1) National Commission has power to transfer a pending complaint from a District Forum
to another in the same State.

(2) State Commission has power to transfer a pending complaint from a District Forum to
another in the same State.

(3) National Commission can not have circuit benches except the permanent bench at
New Delhi.

(4) State Commission can not have circuit benches but can have two State Commissions.

58. Point out the correct statement :
Crime is necessarily an immoral act.

2)  Crime is necessarily an anti-social act.
)  Crime is necessarily an anti-communal act.

Crime is necessarily an anti-religious act.

59. Four accused with common intention to kill, shot one B in the bona fide belief that B was A.
In this case :

) None of them is liable for the offence of murder.

) All accused are guilty of causing death.

3) Section 34 of Indian Penal Code does not apply.
)

All accused are guilty of causing death without invoking Section 34.

possns || IANRRLAN
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56.

57.

58.

59.

IR (A) 3R ek (R) 1 7 IR = f53 & T2 1 T 7 gL S| A
AFURYT (A) : U T AR TH R0 F T S &g UM 1 w3 FH F a9

T feefa &

e (R) : T % =g % qd o =1e] HEAT G

<< :

1)
(2)
®)
4)

A) 3R (R) 31 T& € 9901 (R), (A) T T&l AR 7|
A) 3R (R) <M1 T&t € AfFA (R), (A) 1 T =ARen & 2|
A) Td § 3R (R) T R |

(
(
(
(A) W& § 3R (R) e T

U TRl &% "oy | fFAfafed § 9 ShiH-91 697 98 22

(1)

forameis forehrad sl fSa wRE 9 3T T5F | GERI STe SAMIRG hid i STfok T STREIRT
FIE RN

foramurefi= fererrd ol Sttt e | 361 T § O S8 SAHIRG i ot SifeR] T3 TTERT o6
THEI

T2 Tl feea Tt die & 1cTdl Ui 3TN |fthe 9 el T 9ehal |
T3 3TN Gidhe o9 el T Tehdl Wiehd < Tsd 3TN T Hohdl © |

e FHUT B9 ?

(1)
(2)
®)
4)

arqqy ferda: efasw wrf ®1
3Ty AfarRda: FE-fodeh wef §1
STy e SeeE-forkidt e §1
3ToRTY AT vH-fae % ¥

T T hi FHM STE o H1e TR AR 59 FGHEYES a9am o |1el B &1 7ol 9Rd § fo B, A
ol U HEA H :

(1)
(2)
®)

4)

T | FE off T & STy & fau SweEt 77 T

Goft ST Yo I i & Sl €

IR SUE Hfedl shi ¥R 34 AN & &t S

ot TR o1 34 % STa@id & fo1 g Hifd & & <t

posens | H1HEITAVANNAN 5
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60. Under Section 65 of Indian Penal Code, 1860, sentence of imprisonment for non-payment of

fine shall be limited to :

(1) One-half of the maximum term of imprisonment fixed for the offence.
(2)  One-third of the maximum term of imprisonment fixed for the offence.
(3)  One-fourth of the maximum term of imprisonment fixed for the offence.
(4)

One-fifth of the maximum term of imprisonment fixed for the offence.

61. Under which of the following sections of the Indian Penal Code, 1860, promoting enmity
between different groups on grounds of religion, race, place of birth, residence, language etc.
and doing acts prejudicial to maintenance of harmony is dealt with ?

(1) Section 153

(2) Section 153-A
(3) Section 153-AA
(4) Section 153-B

62. A instigates B to murder D. B in pursuance of the instigation stabs D. D recovers from the
wound. Here A is guilty of :

(1) Instigating B to commit murder

(2) Instigating B to commit attempt to murder
(38) Instigating B to commit grievous hurt
(4) No offence

63. Under which of the following provisions of the Indian Penal Code, 1860, an assault or criminal
force used in attempting to commit theft of property is punishable ?

(I) Section 356
(2) Section 378
(3) Section 379
(4) Section 384

64. ‘X gives grave and sudden provocation to “Y’. “Y” on this provocation, fires a pistol at ‘X,
neither intending nor knowing himself to be likely to kill ‘Z’, who is near him, but out of
sight. “Y” kills “Z’. Here Y’ has committed :

(1) Death by negligence

(2) Murder
(3) Culpable homicide not amounting to murder
(4) No offence
possss || ARV e Fapert
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60. YRdMF < dfedl, 1860 i ¥ 65 o 3idd JHMA 9 7 W HREAE 1 USRI LED
Hiftrd grm |
(1) 39 Ty & fau foa sifusrad wREm® &1 stafy 6 e
(2) 9 TIY & fau fo Afeshan e &t eTEfy & T f01E
(3) 9 TIY & fau Faa sifushan wRE™ & s1afy &1 T [
(4) T8 AW F foru Fraa sifereran SREE S eTafy w1 uiEer few

61. WRd g€ Hfedl, 1860 i f=fafad § & fohq &0 & sidid o, goew, SHH-%M, fem-wom,
oTeT, TS o STER W fafys Togl o o= S 1 Hye iR Hiew s W W Yidhe 99Te SeH

el S § e S @ ?
(1) 9 153

(2) ®R 153-T

(3) ®R153-T T

(4) 9/ 153-it

62. A, B &I D &I A FL & fIU SHA@ T 1 B TH IHTR W D &l g AR @ &1 D, o9 § W 2
ST ¥ AR A 1A B
(1) B I B & & oI SHEH
(2) B I A I JAH A & folg IRd™
(3) B @I TR wIe TgaH & forg Seham

(4) I TUY T
63. YRA g8 Hfedl, 1860 & F=Afaiigd Wae™i § 9 fohdeh SAdid Hafd i =t & Yl | gHer T
Mok ot o1 JA St § 2
(1) T/ 356
(2) 9N 378
(3) ®RI 379
(4) oI 384

64. “X,*Y I TR TR ST Yhidd 9 SHT &1 39 IHTE WY/, ‘X' W {riiar ¥ el I g,
T T ST ST I o1 IR 7 & 9% I8 S o1 fo 77, S 39 gy g, fog feme = vs w1 8, 9
STET | Y’ ‘7 o Gog HIRa L Sa &1 J- Y AR

(1) 3Us % 5N g
g; zaﬁaﬁﬁﬁqaﬁmﬁamﬁmwau
(4) I AUY TE
posss [ AN 5
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65. Match List-I with List-II and give the correct answer by using the code given below :

List - I List-II

(a) Dishonest taking of property (i)  Criminal breach of Trust
(b) Dishonestly inducing any person to (i) Extortion

deliver property
(c) Entrustment of property (iii) Criminal Misapprociation
(d) Conversion of property (iv) Theft
Code :

@ ®) © (@
O 6 @ G @)
@ v @ 6 )
@) G G @ )
@ @ G 6 @)

66. Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : Nothing is an offence which is done by a person who, at the time of doing
it, by reason of unsoundness of mind, is incapable of knowing the exact
nature of the act.

Reason (R) : Mistake of fact is a good defence and mistake of law is no defence.
Code :

(1) Both (A) and (R
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

are true, and (R) is the correct explanation of (A).

67. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-1I

a) Mehboob Shah Vs. Emperor

b) State of Maharashtra Vs. M.H. George

c) Director of Public Prosecutions Vs. Beard

d) R.V. Dudley Vs. Stephens

i)  Mens rea
ii) Intoxication
iii) Common Intention

iv) Necessity

Code :
@@ () (o (d
MO @ @) [ (iv)
(2 @) @Gv) @ ()
@) @) @@ @) ()
(4)  (v) () @) ()
possss [ EIMIRANAN 5 Papec.i
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geit-1 geit-11
(a) SEAM 9§ Hufd of o () AUy =ATEHT
(b) EAH | foRdlt =Afem w1 dufd aRed w41 & fag (i) FFIA
IARA
(c) wufa i s (iii) ST g
(d) Hufa =1 Huftada (iv) =
<< :
@ (b) (o) (d)
@ @ @ @ ()
2 @) @ @ ()
(®) () (@) @) ()
@) @@ @ @ W)
66. AR (A) 3R Tk (R) I IR =1 T T e 1 T X WE SW T
ARTRIT (A):  Fo ot U0 & § < U e o g0 o T < 9% wd wwa T fasfa &
HRT 3T 1 hI k-3 hfd s H /e 7|
e (R) : A St Ffe TH 371 991G § IR HMEA Ht Ife hIE I 7 B |
<< :
1) (A) aﬁ? ) S WeT € I (R )aﬁx@m%
2 (A R) < T2 § f‘m'_gi, A) Tt T AT T 7
3) (A) 1=|E°r % ﬁh@ ) TTerd 1
(4) (A)W%%(R)W%I
67. Fet-1 1 Gei-11 % T FAfed w¢ 3R = T T FHe 1 00 R & S® <
qei-1 -1
(a) RIS T FAH THIE () AR w1 fefd
(b) HBRIS T o TH. T SIS (i)  H
() Ticwmen, @ SIS oM 99 (iii) | STRE
(d) AR TSl TH LhH (iv)  3TTereFehdl
<< :
@ (b) (o) (d)
@ @ @ )
2 @ @) @ ()
(3) (i ) () (ii) (iv)
4) (v) (i) ()
poss1s |||\|H|\||H|\|\|H|H|||\ 7
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68. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-II
(Provision for) (Sections of I.P.C.)
(a) Punishment for causing death or resulting (i)  Section 376-D
in persistent vegetative state of victim
(b)  Sexual intercourse by husband upon his (ii) Section 376-B
wife during separation

(c) Sexual intercourse by a person in authority (iii) Section 376-A

(d) Gang rape (iv) Section 376-C
Code :
@ () (9 (d)
1 @ @ @) @)
2 @) (@Gv) @ ()
@) (@) (@) Gv) (@)
@) Gv) (@) () (i)

69. Give the correct answer by using the code given below :

(a) The workman has a right to approach the Labour court directly without waiting for
the conciliation proceedings and government reference.

(b)  The appropriate government in respect of Corporations and Public Sector undertakings
owned or controlled by the central government will be the central government.

(c) Every industry employing 20 or more workmen is under legal obligation to Constitute
and have a Grievances Redressal Committee.

(d) The award passed by the Labour Court can be transmitted to a Civil Court for the
effective enforcement of the award.

Only (a) and (b) are correct.
Only (c) and (d) are correct.
Only (@), (b) and (c) are correct.

c) and (d) all are correct.

HHIIH\INIIHIHII s
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68. WEI-I o1 Feit-11 & Fafera i IR = I T Fe 1 TI0 o 98 WS :

Teit-1 geit-11
(... o foTq grerem ) ( e €€ wfgar st g )
(a) Hifed =t o o1 AR foashdeiial g9 wifd () 9 376-Ct
% fau g

(b) O GRT STOHT TSt T T YRR % SR He[
(c) TifeRR ¥ forelt =afo gm0 HyA
ek Sellchi

(@ (b)
® @)

( d)
(i
(i) (v)
(iv
(i

v)

(
1 (i
(iii)
(
(i

2
3
4

(i) (if)
(iv) @)

i)

(
(
(
( y

)
)
)
) i)

69.

1= QT 7T Fe 1 TN W FqE W AN

(i) &R 376
(i) NI 376-T
(iv) ® 376-9t

(a)

)
)
®)
)
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70. Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :

Assertion (A) : The strike or lockout as the weapon has to be used sparingly for redressal of
urgent and pressing grievances when no means are available or when
available means have failed to resolve it.

Reason (R) : The employment that workmen get and the profit the employer earns are
both generated by utilisation of the resources of the society in one form or
other and they are to act as Trustees of the said resources.

(1) (A) and (R) are true, and (R) is the correct explanation of (A).

(2) (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is false, but (R) is true.
@

A) is true, but (R) is false.

71. Match List-I with List-II and select the correct answer by using the code given below :

List - I List-I1
(a) A strike could be legal or illegal and (i) Award
illegal strike could be justified one
(b) Right of the Workmen to approach the (i) Bharat Singh Vs Management of
Labour Court directly within a period of New Delhi Tuberculosis Centre
three years

(c) Right of the workmen to payment of full (iii) Justice V.R. Krishna Iyer
wages pending proceedings in the

High Courts

(d) An interim or a final determination of any  (iv) Section 2-A(2) Industrial Dispute
Industrial Dispute (Amendment) Act 2010

Code :
@ () (9 (d

1) @) Gv) @@ @

@ @O @ @) ()

(3 @ (@) @) @

4 @) @ @O G

poses [ [N o Papes T
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70. 3TTURY (A) 3R Tk (R) I 31X = ST T e FT Temar § W& W T

AR (A) :  TTchiicrn IR Hequl IRART o FHYM & fau, 1 ®iE e Sqaed T8 © a1
3UCTSY WL TEhT THIHM 4 B f9ha W® €, SAUdea®y gediel a1 deisial

TR &% &9 § T FE 7 |
T (R) : TR 1 S ASHIR foerar & qen it <t oy sifsla shear € <1 ferdlt =1 fopedt
Y H A o HEEA & TN g1 YIS B ¢ SR 3% IR SHIEA % = % &9
H &\ FEAT L
<< :
(1) (A) 3R (R) T& € 3R (R), (A) T T& =& ¥ |
() (A) 3R (R) T&l € fhg (R), (A) T T =Ame =& 2|
() (A) oW © fRg (R) T&T 1
4) (A) 5 g fhg (R) T B |
71. Q-1 3R Gei-11 1 Gaferd o qe 919 fIT TT e 1 TN T |q& W S
geit-1 Tqer-11
(a) T TS oY A1 37 B Wkl © SR 9y (i) eAfufoE
geara siifaegut & Hehar T
(b) FHHHR 1 1= 6 w1 erafer & i G (i) wa g oW 8 fowed qufesh e
H T | S Wl SRR EERCE]
(c) HHHR 1 I=A ATl H wrEaledl & afod (i) AR o SR, HOM =R
@A qh U1 FeIgd o YTIAM 1 TR
() fordt ot sienfits foare 1 sfafe steren sifm (iv) oW1 2-% (2) SiEifies faams (Henem)
frafo FAfaftm 2010
<< :
@@ () (0 (4
1 @) @Gv) G @)
2 @ @ D) (iv)
@) @) () (@) ()
4) (v) @) @ (i)
possss | [LITMIAI AN i
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72. “Although the Judicial interpretation given to the expression “Industry” by Supreme Court
in Bangalore Water Supply Case was intended to settle the test to determine its scope, judicial
trends point out that it has done more damage than good, not merely to organisations but
also to employees by curtailment of employment opportunities”. The above trend is reflected
through one of the following case :

(1) Corporation of city of Nagpur Vs Employees
(2) State of Bombay Vs Hospital Mazdoor Sabha

(3)  Coir Board, Ernakulam, Cochin and another Vs Indira Devi P.S. and other
(4)

4) Madras Gymkhana Club Employees Union Vs Gymkhana Club

73. Answer the following using the code given below :

The condition precedent to the order of Reference under section 10(1) of the Industrial Disputes
Act is the satisfactions of the appropriate government to the following :

(a) Existence of Industrial Dispute

(b) Apprehension of Industrial Dispute
Code :

(1) Both (a) and (b) are correct.

2) (a) alone is correct.

()
(3)  (b) alone is correct.
(4) Both (a) and (b) are wrong.

74. Read Assertion (A) and Reason (R) and give the correct answer with the help of code given
below :

Assertion (A) : (a) The unrecognised union has right to meet and discuss with the
employer the grievances of Individual workman with the employer
and

(b) to appeal and participate in a Domestic Departmental Enquiry in
which its member is involved.

Reason (R) : This is a statutory recognition of a unrecognised Union.
Code :

(1) (A) and (R) are true and (R) is the correct explanation of (A).

(2) (A) and (R) are true, but (R) is not the correct explanation of (A).
3) (A) is false, but (R) is True.

(4)

poss !II“IIHIINIIHN

) is true, but (R) is False.
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72. IATH AT G STAR S el (SR Sargfd) dqHe § e’ sifveafad o wmfu fe
=ifoes fa=m fean T on S gEes St & fauftor ) St @1 e s % fau stfaga e,
=qfaes ygfaat sardt € fob sam =1 fadk Fei 1 31fug SR & ST i W HTh HHAMT I
Y TEIH O FE At wif wgeE | SwE ygta frefafed § 9 R ww Amer & A 9
yiafefted g s :

(1) TR TR e oW wHE

(2) TS T M BRed TSIl 94l

(3) FW A, TAHeH, A 3R 31771 5 Efeq <&t d.wd. iR o=
(4) TeE e Fe FHA e a9 e Faw

73. = ST T Fe o gEr A FEfatEd w1 SW T
sirenfiren foare stfufem &1 9 10(1) & Sidid <91 & <9 & g6 1 ¥ Fefarad & gfa

qfad TR i Gfe ¥
(a) SArEnfiren faare = sifae
(b) SiENfe foare i sl

<

1) () 3R (b) I T
(2) HAA (a) TR T

() FHadA (b) TE I

(4) (a) 3R (b) IH TeTd ¥ |

74. STUFRT (A) 3R qeh (R) T 71 = T T He it Her=a § Wl SW S :

ARAT (A) :  (a) TR TG IfTAA R FAT HE qAT TR FHBR ! kT > T
el o IR H i o Ty == w0 R SR § 8 R

(b) ey favmia sire foad o aew dfera R, STiia T a9 Wi o @
CIRETN

e (R) : 7g IR AT A i gifafies o €
%He

1) (A) 3R (R) I @& € 3R (R )ﬁa@w%n
2) (A) (R a'—hﬂ%“r%ﬁ@ A) T & = T ¥
() (A) @ © fRg (R) T T

4) (A) 9@ B fhg (R) o
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75. Answer the following using the code given below :

The following are the pre-condition for acquiring Jurisdiction by the National Tribunal Under
the Industrial Disputes Act :

(a) Industrial Dispute must involve question of National importance in the opinion of the
Central Government

OR

(b) Industrial Dispute must involve question of State importance in the opinion of the
State Government

OR

(c) Industrial Disputes must be of such a nature that Industries situated in more than one
State and are likely to be interested in or affected by such disputes

OR

(d) Industrial Disputes must be of such a nature that Industries situated in more than five
States and are likely to be interested in or affected by such disputes.

a) and (d) are correct.
a) and (c) are correct.
b) and (d) are correct.

d) alone is correct.

76. Read Assertion (A) and Reason (R) and give correct answer by using code below :

Assertion (A) : Administrative law is a branch of public law in contradiction to Private
law.

Reason (R) : Administrative law primarily deals with the relationship of individuals inter
se.

Code :

1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

3) (A) is correct (R) is incorrect.

(1)
(2)
)
4)

4

fossis !IIHIIHIIHIIIIHH
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75. i U T Fe w1 v R fFrefafed w1 sWw S

sirifier foame sifufaw & siaria T stfereor gr &feer @Ifsia e &t ffafea geee
¥

(a) g WHR w T H il faare # W qew w1 A e ©
aterar
(b) TF TR & T H ST fgare § 17 & 7o &1 U mivd §

areran

() sirenfires foare s0 yor & & o e we & e1fere Tl § staferd 2 oIk U@ foerl # wfa 2
o1 genfe &

3reran

(d) frenfies foere 38 gohr o 2 for e e & sifus Toai # safeed & o) @ faaci # s= &
1 geiferd 2 |

e :

1) (a) 3R (d) & )

2) (a) 3R () T ¥

(3) (b) 3R (d) T T

(4) FHad (d) T T

76. UK (A) 3R qeh (R) T iR i< U 7T e 1 TN R W& SW S :
AR (A) :  TRTER A 5 HHA & fawia e HrA &t e 2

@ (R) : YRR A 1 JEAadT Al & T/ S a9 §
HE
1) (A) R) S W& € 31 (R), (A) 1 & == B
2) (A) I (R aﬂ‘rﬂ@%ﬁﬁ R), (A) ! T =EAT & 7 |
(3) (A) 9& & (R) 7T B |
(4) (A) 7T T (R) W B
rosss [NV i Paper

® @ © O LinkingLaws  © Linking Laws Tansukh Sir &) www.Linkinglaws.com % Unacademy Learner App At
Linking Laws is an institution for RJS, DJS, MPCJ, UP PCS J, HCS (JB), GJS, & Other State Judiciary and Law Exams. (
vV A\




. o Linking Laws ©:7737746465

(it Lot Jau” 2 - [ITTTTIIRY www.LinkingLaws.com

77. Match List - I (name of case) with List - II (principle of natural justice) and give correct
answer by using the code below :

List - I List - II
(a) Hira Nath Mishra Vs Rajindra (i)  Right to notice or requirement of notice
Medical College
(b) Union of India Vs Mohd. Ramzan (i) No evidence should be taken at back of
Khan the other party
(c) Maneka Gandhi Vs Union of India (iii) Report of the enquiry to be shown to the
other party
(d) Union of India Vs Narendra Singh (iv) Reasoned decision or speaking orders
Code :
@ ®) (© (@
M G @ 6 G
(2) (@) @) @) @
G @ @ @) @)
@) @@ @) (@) @

78. Match List - I (name of case) with List - II (name of writ) and give correct answer by using
code given below :

List -1 List - IT

(a) Sunil Batra Vs Delhi Administration (i) Quo Warranto
(b) U.N.R. Rao Vs Indira Gandhi (i) Habeas Corpus
(c) Gujrat State Financial Corporation Vs Lotus Hotels (iii) Certiorari
(d) Nalini Ranjan Vs Annada Shankar (iv) Mandamus
Code :

@ (B (9 (d)
1) @) @) @O @)
() (v) () @@ @
G @ @ @v) ()
@ @O @ @) (@)

79. In which of the following case the Supreme Court of India ruled that when the selection
process consists of only a viva-voce test without any written examination no limit need be
imposed on prescribing marks for the interview.

(1) A.K. Roy Vs Union of India

(2) A.P. State Financial Corporation Vs C.M. Ashok Raju
(3) Sambhu Nath Sarkar Vs State of W.B.

(4) P. Lakhanpal Vs Union of India

vossns [ HINNER
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80. Which of the following statement/statements is/are correct ? Give correct answer by using
the code given below :

(a) Absolute discretion is a ruthless master.

(b) Where reasonable conduct of government official is expected, the criterion of
reasonableness is subjective and not objective

(c) Every action of the executive government must be informed with excuse and should be
arbitrary.

(d) Exercise of discretion is an inseparable part of sound administration.

Code

(1) Only (a) and (b) are correct.
(2) Only (c) and (d) are correct.
(3) Only (b) and (d) are correct.
(4) Only (a) and (d) are correct.

81. Which of the following Acts shall be amended as per Section 58 of the Lokpal and Lokayukta
Act, 2013 ? Give correct answer by using the code given below :

(a) Commission of Inquiry Act
(b) Central Vigilance Commission Act

(c) Code of Civil Procedure
(d) Central Bureau of Investigation Act

Code

(1) (a) and (b) are correct.
(2) (c) and (d) are correct.
(3) (a) and (d) are correct.
(4) (b) and (c) are correct.

82. Which one of the following is incorrect ?
(1) Montreal protocol is related to Hazardous Waste.

(2) The Precautionary Principle and Polluter Pays Principle are essential features of the
principles of sustainable development.

(3)  The Stockholm Declaration of 1972 has been described as the Magna Carta of our
environment.

(4) No state has a right to use or permit the use of its territory so as to cause injury by
fumes in the territory of another.

possns || IANRRLAN
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80.

81.

82.

frefafaad s /s § 9 SR-91/3 98 /8?2 A= U U e 1 56 R wE SW T

(a) TRY faererIfepr fde T 2|

(b) STl WERRT fehi I THfEd SR 1 ST i W § Shifee s Ade fauafts g g
for aEgfTes

€) HHRR TEHR H IS AR Hl 96H & G giad HE1 A1fee 3iR 38 M S =t |

d) fademfeeRR a1 T TR TRIEe i STYLERIua 9rT & |

ARaTe SR Slehrar AT, 2013 &t ¥R 58 & ATIR Fr=fafed # & fog sifufm & deiem
BT ? A ST T e 1 WA R WE IW S

(a) Sira TN Afufy

(b) HEF TR RN AfTEH

(c) Tafaer gfskan Hied

(d) R ST = SAfytEy

frefafed # 9§ F-91 Tea €2

(1) WifZara Werme WA TR ¥ Feiftd T

(2) i fagra iR yguul el arel JaM #al © faga Hega fasm @t sifard
fordroramd € |

(3) T TIwaM HHU, 1972 I THR TATRON 1 HiRTE] el T T |

(4) Trdl off TSF T AT YHTT AT 39 TR FANT H A1 TART HE 1 STIH < A1 ATRR T21
o SO0 g U H g § afd wE |
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83. “The State is the trustee of all natural resources which are by nature meant for public use
and enjoyment and that Indian legal system includes the Public Trust Doctrine as a part of
its jurisprudence”

The Supreme Court of India has observed the above in one of the following case :

T.N. Godavarman Thirumulpad Vs Union of India

M.C. Mehtha Vs Union of India

)
2)  Indian Council for Enviro-Legal Action Vs Union of India
)
)  Shri Sachidananda Pandey Vs State of West Bengal

84. Match List - I with List - IT and give correct answer by using the code given below :
List - I List - II
(a) No state has a right to use or permit the use of (i) Basel Convention

its territory so as to cause injury by fumes in the
territory of another

(b) The Economic Benefit must substantially exceed (i) Trial Smelter Case
its Environmental Cost

(c) The present generation has no right to deplete (iii) Environment Impact
all the existing forest and leave nothing for the Assessment
next and future generation

(d) Transboundary Movements of Hazardous Wastes (iv) Inter Generational Equity
and their Disposal

Code :

@ (b) (9 (d)
M @ @) (@v) (i)
2) @) @ @) @
@) @) (@) (@) ()
@) @ @) (D) (i)

85. Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : It is the duty of the state to devise and implement a coherent and
co-ordinated programme to meet its obligation of Sustainable Development.

Reason (R) : Adherence to the principle of Sustainable Development is now a
Constitutional requirement.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2)

3) (A) is correct but (R ) is wrong.
4)

4 ) is wrong but (R) is correct.

poset !||“||H||H||||HHHIIH!H!!III\I\HIIH\IHIIHIHH .

Both (A) and (R) are correct but (R) is not the correct explanation of (A).
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83. ‘T |eft yrehfas dEteHl S Aafiten 9 9 Teh TAT ST 9 & forn € o1 = ® SR urde fafiew
uett 319 fafuemer & 1 &% &9 § die=ag fagr =1 snfad s 1
YA & S=qH e 1 frefafea § 9 frg ama § =g foooi i § -

(1) AT TcaEd fTeqede sHM 9Rd 99

(2) zfea ifaa BR TARR AT TaRM S99 YR G99
(3) TH.HI. HeEd SH YR G

(4) # 9f=ErE 9ied IM 9f¥=H sel T

84. -1 %I Gell-11 o WY FHfad i AR 0 ST 7T FHel 1 TATT F &l SW S
geit-1 Tel-11

(a) TEl off TF 1 STUT Y9I T 3H YRR G K AT (1) oA HiY
TN T <l STTAT o 1 ATHehR Tl for Sed
T T H et @ arfd vg

(b) T AT $Hh TATERUIE A 9 T €9 § (i) TS e Al
Hfres BT =eq

(c) THM ISl i At faem™ a9 1 &R0 T a1 (itf) AT Yerel Heaish
3TTelt SR et difedt & foru 2 off 72 Bie @

R e T

(d) AR STURTS] i HH-IR STETsTe! SR ST (iv) ST dhTa e
faer

<
@@ () (9 (d

1) @) @) (v) (i)

(2) @) @ @) @O

G) (@) @) @) @

@) @) @) (D) (v)

85. 2feRer (A) iR deh (R) SHI o1 7 3R = U MU e 1 9 Y WE S| <
AR (A) :  IE TF & FaeA ¢ foh a8 Gagd fah™ o ST I U HA & faw @1
oIl FHfaIq HREIHH i o Fehlel T 3§ HEif-ad |

@& (R) : Yot fasm o fagia 1 ST o7 Gt Trevehd ¢ |
?f.(A)SﬁT ) S W ¥ 3R (R )aﬁ@m%
2) (A) IR (R ﬁﬂ%"r%fﬂ A) I & = T B
(B) (A) W& T fhg (R) 7o g
(4) (A) T € fhg (R) T R
yossis | IHMLACAI g
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86. Which of the following do not come under the powers and functions of the Central Board as
provided Under the Air (Prevention and Control of Pollution) Act, 1981 ?

(1) Planning and execution of National programme for prevention, control and abatement
of Air Pollution.

(2) Co-ordinating activities of State Boards and resolving disputes among them.
(8) Fixing standards of Quality of Air.

(4) Making recommendations to the State government for removal of State Board which is
defaulter in discharging its duties under the Act.

87. In which one of the following case the Supreme Court of India held that right to access to
drinking water is fundamental to life and it is the duty of the State under Act 21 to provide
clean drinking water to its citizens ?

(1) Vellore Citizens Welfare forum Vs Union of India
(2) A.P. Pollution Control Board Vs M.V. Nayadu
(3) M.C. Mehtha Vs Union of India

(4) Karnataka Industrial Area Development Board Vs Shri C. Kenchappa

88. Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : The provisions concerning Human Rights run throughout the U.N. Charter
‘like a golden thread’.

Reason (R) : Much of the credit for this goes to the determined lobbying by
non-governmental organisations at San Francisco Conference.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is correct but (R) is wrong.

(4) (A) is wrong but (R) is correct.

possns || IR 2
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86. Trfafed & & SH-|1 a1y (Ugwor o o iR freior) sifafrem, 1981 & siavfa fou T wraremi
F AR Fid IS i a3 Fedl & 3¢ T8 o § 2

(1) a1g 9gu9T & framo, feEm iR &t & fou Tsdia Seisha &t Ars o9 9 36 wrifed
HE|

(2) T SrEl o foharhardl § 9@ TfUd A a1 3Tk otd < foaral o1 FHIEM LT |
(3) 9 I TUETI % A FEIRT T

(4) TF I S 39 Afufam & Siaid o1 wdedl o fded § 9 T § S g2 % fan T
ThR 9 Tqwfie e |

87. frfafed # ¥ form wmel # s=raw =mrer 3 7 fofa feon i Yostat 9 g &1 stfusr siaq &
o gfadt ® SiR 1= 21 & sidild 9% T &1 Fded § T g 1 Al =l W= Toea

(1) dear fafesa SehaR BIRA oM 9Rd 99
2)
(3) TH.EL. HEd SH WA HH

) Ticeh seligdd URAT STAUHS ae oM 4T ®, heao

T SR sheld die oH TH.EL g

(4

88. AR (A) AT deh (R) U¢ IR 1< fSU e =t Temd ¥ Far W 9T :
AfueRed (A): TR AT TR H AR FoiEh Wae U ‘ w@fim 3’ i e = g

e (R) : TR HIH 9T T Wifowh! e § IR SR el g Fegareas ® 9 3
IR e T

Fe
(1) (A) 3R (R) I & € IR (R), (A) T T AR T |
2) (A) 3R (R) I =& ¥ fohg (R), (A) 6 =80 T T
(B) (A) W& T fhg (R) 7@ g
(4) (A) o T fRg (R) TR B

posens | H1HEITAVANNAN 5
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89. Which of the following statement/statements is/are correct ?

Under its terms of reference, the UN Commission on Human Rights was directed to prepare
recommendations and reports on :

(a) An International Bill on Human Rights.

(b) International Conventions or declarations on civil liberties; the status of woman, freedom
of information and similar other matters.

(c) The protection of Minorities.

(d) The prevention of discrimination on the basis of race, sex, language or religion and
other matters concerning Human Rights.

Code :

(1) Only (a) is correct.

(2) Only (b) and (c) are correct.

(3) Only (a), (b) and (c) are correct.

(4) (@), (b), (c) and (d) all are correct.

90. Match List - I with List - IT and give the correct answer by using the code given below :

List - I List - II
(a) Human Rights Council @i 1993
(b) The Universal Declaration of Human Rights (i) 2006
(c) The International Covenant on Civil and Political Rights (iii) 1948
(d) World Conference on Human Rights, Vienna @iv) 1966
Code :

@@ (b) () (d)
® @ @@ G @)
(2) (@) @) @) @
(®) @ @) @) 0
4) (i (i) ()

e
possns [N
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fr=fafead § ¥ wH-91/4 o7 9@ 8/ 2

T T AHAIYHR 3TN Tl 3T 31 18 o 3T=ia fohe dag o fawifel ud ufaeed dom &
o fog fdw fed ™ 92

(a) THAYRR Gadht AR foa

(b)  TAFTRER Terc>rn, wfeensti ot feefd, a1 Sl w@asd den o= wgy foawil & doy § sl
AFTEHI (FATH) ST =

(c) SATTHETRI i GLaf
(d)

e :

¢!

Sfd, T, e teEn o o STHR W 9SHE G hEAl 9l 3= AR el o= fom

) A (a) TE T
) A (b) 3R () T T
3)  F9d (a), (b) 3R (c) T 1
) (a), (b), (c) 3R (d) =+t =& ¥

2

4

—~

Telt-1 1 Geit-11 % WY e 3iR %e Fi Femear ¥ el St g9t
qeit- 1

a) HEETYhR IHug

b) THETHRR i FE R =

(c) NReR o Usiidieh AferhpR Feieh st Afvaa

faea ranfyeR e, faom

HEit-11
i) 1993

i) 2006

1948

1966

a) (b

i

-

c)

ii

~

)

= E:

—_~ —_ —_ —_~ —
~ .
P —~ —~ —~~ —

iv)
i)
(i

(
(
() i)
(i) i)

i

iv) (
ii)
\

—_ —_ —_ —_ —
[N
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91. Which of the following statement/statements is/are not correct ?

(a)  The position of U.N. High Commissioner for Human Rights was created by the Economic
and Social Council.

(b) The High Commissioner was to be appointed by the Secretary. General subject to
approval by the General Assembly.

(c)  The term of office of High Commissioner was five years.

(d) The High Commissioner’s principal location would be in New York.
Code :

(1) Only (d) is not correct.

(2) (@), (c) and (d) all are not correct.

(3) (a), (b) and (c) are not correct.

(4) (a), (b), (c) and (d) all are not correct.

92. Which of the following statement/statements are correct ?

(a) The Chairperson of the National Human Rights Commission shall be who has been the
Chief Justice of Supreme Court.

(b) The Chairperson and the other Members of National Human Rights Commission are
appointed by the President of India after consultation with Prime Minister.

(c) Chairperson and other Members of National Human Rights Commission are eligible
for re-appointment.

(d) The Chairperson and the other Members of the Commission can be removed on the
Recommendation of the Law Minister of India.

Code :
(1) Only (a) is correct.

(2) (a) and (c) are correct.

3) (a), (b) and (c) are correct.

(4) (@), (b), (c) and (d) all are correct.

b)
IR
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91. fr=fafad § 9 HH-11/9 Hud 98 & 8/82?
(a) HYH UL HHATYURR IHAYH h U< h1 Foi ek Te AR afiog 3 foharm e
(b) =g &I Frfe wemfa gr1 1 S St ¥ 3R T Heraen % STHIGH % e1ene A ¥
() I ot Uerary e o i off |
(d) SR T FE T =P 5 2
Fe
1) e (d) & T T
) (@), (c) T (d) W& T T
(3) (a), (b) 3R () T T B
) (), (b), (c) TR (d) |l Wt = ¥

(
@

4

92. Treferfad | ¥ SH-91/9 wo T 5/ 2
(a) U AR SN 1 L& 98 BN Sl SodH =TT Sl & =TT @ e o |

(b) U AFSIYHR TR o TeAe] q1 3T el i (gfo qegafd, st & el |
caull

(c) YIS AR ST & STeAe] TE o7 9asd Gar e & & I3 £ |

(d) 3TN % 3129 TS 1 Uas YRd & fafty @ =t fawie ) g2l s 9 1

% :

(1) % (a) T R

2) (a) 3R (o) T T

B) (a), (b) 3R (c) T T
)

4) (a), (b), (c) 3R (d) |t W& )

poset il 5
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93. Match List - I with List - IT and give the correct answer by using the code given below :

List - I List - II
(Provisions) (Sections of the Protection of
Human Rights Act, 1993)
(a) Constitution of National Human Rights (i)  Section 10
Commission
(b) Constitution of State Human Rights Commission (i) Section 12
(c) Functions of the National Human Rights (iii) Section 3
Commission
(d) Procedure of the Commission (iv) Section 21
Code :
@@ (b) () (d)
1 O 6@ @) @)
(2) @ @) @) @
G (v @& @ (i
4) @) @) @@ @

94. Which one of the following is incorrect ?

Under the Partnership Act, a minor who has been admitted to partnership when attains
majority should adhere to the following :

(1) Issue a public notice that he has elected to become or that he has elected not to become
a partner

(2) Option must be exercised within 2 months on attaining majority

(3)  When the minor opted to become a partner his rights and liabilities as a minor continue
upto the date on which he becomes a partner

(4) When the minor opted not to become a partner his rights and liabilities shall continue
upto the date on which he gives a public notice

95. Match List - I with List - IT and select the correct answer using the code given below :
List - I List - II

(a) Mutual Rights and Liabilities of Partners (i)  Section 34 of Partnership Act
(b) Dissolution of Partnership (i) Section 13 of Partnership Act
() Retirement of a Partner (iii) Section 39 of Partnership Act
(d) Insolvency of a Partner (iv) Section 32 of Partnership Act
Code :

@ ) © @
M G G @) G
@ @) @) @) 0
@) G @ 0 @)
@) 6 @ @ @)
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93. Ge-1 % Feit-11 % W e qen e i el § W& S S

g1 gqei-11
( yTaHT ) (AT TR weruT AfufEm, 1993 St &g )

(a) HFETTYRR TN Sl TS () 910
(b) TF AHATYRR SAEN 1 TS (i) ®R12
(c) TS AHETYHRR ST o (iti) ®T 3
(d) 3TERT & gfehan (iv) 9/ 21
He :

@@ (b) (9 (d)
1 @ @ 3§ ()
(2) @ @) @) @
G) @Gv) @ G (i)
4) (@) @) @) @

94, frefafed § 9§ siF Tea 22
TeiiTan 1fufam o faid, o i STaaweh Ta%hdl U< Hi o Y] FeiTdr § JoeT dm & ot
39 fTrfafed &1 uer & =
(1) T HESe Yo SR w1 foh 397 YRR o7 STan 78 o o1 =39 fohan 2|
(2) TIEHAl NI & <1 /I8 h A< forhed 9 o1 =fed |
() & foret e 7 TR oA o foshed 91 © 1 T T o €9 § Ik AR T
I 3Heh UM o il TG ok ST &1 |
(4) afe fordt sToaeh 3 Weurlt Fef a7 1 fahcd o1 §, @1 S5 SITER T < 396 gR

ST Fa1 o7 ot TR deh S & |
95. ge-1 1 Gei-11 & T FAfed wifee oik 9= fed 73 Fe 3 9dt s g -
geit-1 qeit-11
(a) HTTGRI o UREIN AURR TF e () HTIRR AfufEm it urT 34
(b)  HTIERI =i FHIE (i) TR Afuf=m =t ¥’ 13
(c) Tl wrfier =t Aanfafd (iii) wFieRT stfufm =t & 39
(d) Tret vrfier =1 fearen (iv) YRR Afuf=m =t umT 32
i @@ () (o (d
@ @ @ Gv) (i)
(2) @ @) @) @
®) (m) (11) ( ) (1 v)
(4) (iv)
posens \||H||H||II\I\II\I\H\IIHH||||\|H|\||H|\|\|“|“|||\|\| 5
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96. Read Assertion (A) and Reason (R) and give the correct answer with the help of code given
below :

Assertion (A) : The surety has no right to restrain execution against him until the creditor
exhausted all his remedies against the Principal Debtor.

Reason (R) : The Liability of the surety is co-extensive with that of the Principal Debtor,
unless it is otherwise provided by contract.

Code :

(1) (A) and (R) are true and (R) is the correct explanation of (A).

(2) (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is false, but (R) is true.

(4) (A) is true but (R) is false.

97. Which one of the following is incorrect ?

Under the Sale of Goods Act, to make the buyer liable for neglecting or refusing delivery of
goods the following conditions must be fulfilled :

(1) The seller was ready and willing to deliver the goods.

(2) The seller requested the buyer to take delivery.

(3)  The seller informed the buyer to ignore the delay and take delivery.
(4)

The buyer did not, within a reasonable time after such request take delivery of the
goods.

98. Read Assertion (A) and Reason (R) and answer by using code given below :

Assertion (A) : Under the Company Law, though any outsider is presumed to be aware of
the documents which are publicly accessable, but not the internal
proceedings of which he can not reasonably aware of, because those are
not accessible to the public.

Reason (R) : The Doctrine of indoor management evolved as a partial exception to the
Doctrine of Constructive Notice and the rule was laid down in Royal British
Bank Vs Turquand.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4)

s [

) is false but (R) is true.
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96. 2AMTRAT (A) T ek (R) 1 T 31 9 ¥ 73 T2 F W& W T

AURT (A) :  Ffayfa (FRET) 1 39k FGT® FMAIad F o SToRIY T Toddh YRR TE
Serdeh foh @GR A go kO & faars 9+t STeR | 7w fed 7

e (R) : Tfaf 1 ST go ol & TATTRIT0] &, Sterdeh foh Hfoat H ST a9 1 2 |
<
1)  (A) 3R (R) 31 T&l € 31K (R), (A) i &l A=A T

2)  (A) 3R (R) 3Hi T&l €, g (R), (A) 1 T = =& § |
(A) T %, fohg (R) BT €

(A) T& , g (R) T B

3

(
(
(
4

)
)
)
)

97. fo=fafEd § 9 %H Ted & ?

T fosra sifufam, <6 sl orat < aReM i 3SU&T STuE Raihid ?q shal ol QR 3t &
fera frefafed oid ereea g =61 S =nfe

(1)  forshal TaR o1 iR A1 % IREH 1 s5g o1 |

(2) Tashar 7 aREM U S 89 skl | AT fohan o

(3)  Torske =1 shell =l e Tk ot T @ foreie ohl Toeiarst s afeH el o o |

(4) okl 7 3fad THF HE R ST TH ST T W o I9=Td HId o1 RS el o |

4

98. 2R (A) 31X ek (R) I 9 iR 1= feu T4 Fe i Te@d ¥ W ST T

ATUHRT (A) : T fohelt Al =Afo & IR H I 91 foran S § o 38 drese €9 9 g
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99. Which one of the following is incorrect ?

Any mis-statement made in the Prospectus would attract the liability of the following persons
under the Companies Act :

(1) Every person who is a director of the company at the time of the issue of the prospectus.

(2) Every person who has authorised himself to be named and is named in the prospectus
either as director or as having agreed to become a director either immediately or after
an interval of time.

(3) Every person who is a promotor of the company.

(4)  An Expert, whose consent has not been endorsed to the registration and liable in respect
of every content in the prospectus.

100. Which one of the following is not the essential requirement to fulfil an instrument intended
to be a Promissory Note ?

(1) The instrument must contain a promise to pay.
(2) A mere acknowledgement of indebtedness is sufficient.
(3) The sum of money to be paid must be certain.

(4) Promise to pay must be unconditional.
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Space For Rough Work
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